Honeywell

QuantumT™ Flex Stand Installation Guide

For kits 46-00288 and 46-00289

Components Required for Flex Stand Installation

1. MS3580, QUANTUMT ... Qty. 1
2. PivOt CYlINAEr ....ooviiiiiiiiie e 1
3. Bearing Plate ... A
4. Pole Mount Adapter 1
5.  Flexible Shaft CoVer® ...t Qty. 1
6. Flexible Shaft* ..o Qty. 1
7. Base Plate COVEN ......ccouviiieeiii et Qty. 1
8. #8 X 1.00" W0Od SCreW .......ovviiiiiiiiiiiieeeiece e Qty. 4
9. Base Plate ......ooooiiiii Qty. 1
10. Communication/Power Cable (Not Shown) .............cccceevecerennnen. Qty. 1
ength o e Flexible aft and a over are Depende

Kit Number Length of Flexible Shaft and Flexible Shaft Cover

46-00288 3 inches

46-00289 6 inches

Base Plate Installation

Drill four #39 pilot holes in the
pattern shown. Then use the % @@
* (F_ — _if four #8 wood screws provided WQ
63.5* [ 2.50* ] | | to secure the base plate to the #8 Wood Screws
| countertop.
508[200] || |
|
TH
HJ 50.8[2.00 ]L— Dimensions = mm [ inches |
—»| 63.5*[2.50*] [«— " Reference Dimensions Only Base Plate

Figure 2. Specifications for Securing the Base Plate




For kits 46-00288 and 46-00289

Flex Stand Assembly

MS3580

Pole Mount Adapter

Pivot Cylinder

Flexible Shaft Cover

Align the Flat Edge of the
Bearing Plate and the Ribs
on the Base Plate Cover.

Flexible Shaft

Bearing Plate

Base Plate Cover

Base Plate

#8 Wood Screws

Figure 3. Flex Stand Assembly for Kits 46-00288 and 46-00289




For kits 46-00291 and 46-00292

Components Required for Flex Stand Installation

e

1. MS3580, QUANTUMT ..o Qty. 1
2. Pivot CylINAEr oo Qty. 1
3. V" —20 x 3/8" Flat Head Phillips, 100° Undercut.............c..cc...... Qty. 1
4. Pole Mount Adapter .........ccooiiiiiiiiiiiiee e Qty. 1
5.  Flexible Shaft Cover® ... Qty. 1
6. Flexible Shaft* ........oooiiiii e Qty. 1
7. StaNA BASE .....ccoociiiiiiiiiiii e Qty. 1
8. #8 X 1.00" W0Od SCreW .....cceeviiiiiiiiiiiieeeiieee e Qty. 2
9. Communication/Power Cable (Not Shown) ........c...cccceevienrennnnee. Qty. 1
eng O e e ple d dnd d over are Depende

Kit Number Length of Flexible Shaft and Flexible Shaft Cover

46-00291 3 inches

46-00292 6 inches

Base Plate Installation

Drill Two

#39 Pilot Holes for
#8 Round Head
Wood Screws

120 mm (ref.) o

473" (ref) =

10 mm (ref.) N 125 mm
.39" (ref.) 4.92"

145 mm (ref.)
5.70" (ref.)

Figure 2. Specifications for Securing the Base Plate




For kits 46-00291 and 46-00292

Flex Stand Assembly

MS3580

Pole Mount
Adapter

Pivot Cylinder

Flexible Shaft Cover

Flexible Shaft

Position the flexible shaft so
that the flat surface on the
end is flush against the tab
on the stand base.

#8 Wood Screws

Stand Base

| & Y".20x %" Flat Head

L Phillips, 100° Undercut

Figure 3. Flex Stand Assembly for Kits 46-00291 and 46-00292

Honeywell Scanning & Mobility
9680 Old Bailes Road

Fort Mill, SC 29707
www.honeywellaidc.com

T

10/10



	QuantumT™ Flex Stand Installation Guide
	For kits 46-00288 and 46-00289
	Components Required for Flex Stand Installation
	Base Plate Installation
	Flex Stand Assembly

	For kits 46-00291 and 46-00292
	Components Required for Flex Stand Installation
	Base Plate Installation
	Flex Stand Assembly


	Manual Date Code


